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Supporting Information
Table S1. List of antibodies used for flow cytometry.
	Conjugate
	Target
	Clone
	Supplier

	Alexa Fluor 700
	CD3
	UCHT1
	BD Biosciences

	Allophycocyanin (APC)
	CD8
	PCH101
	BD Biosciences

	APC
	FOXP3
	PCH101
	Thermo Fisher Scientific

	Fluorescein isothiocyanate (FITC)
	CD127
	eBioRDR5
	Thermo Fisher Scientific

	Pacific Blue
	CD4
	RPA-T4
	BD Biosciences

	PE-Cy7
	CD25
	BC96
	Thermo Fisher Scientific

	PerCP-Cy5.5
	CD45RA
	HI100
	BD Biosciences

	Phycoerythrin (PE)
	CCR7
	G043H7
	BioLegend


Figure S1. Cytokine secretion upon in vitro PMBCs stimulation induced by GAD-alum administrated into lymph nodes (LN, white circles) or by subcutaneous injections (SC, black circles). Median levels of GAD65-induced IL-2, IL-13, IL-17 and IFN-γ cytokines at baseline, 6 and 15 months detected by Luminex in PBMCs supernatants after 7 days culture in presence of medium or GAD65 (5 µg/mL). GAD65-induced cytokine secretion levels are given after subtraction of spontaneous secretion from each individual and expressed as pg/mL. Horizontal lines indicate the median. Mann-Whitney U test.
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Figure S2. Change from baseline to 15 months of the percentage of (A) regulatory T cells (CD4+CD25hiCD127low/-FOXP3+), and (B) non-suppressive (nsTreg, FOXP3lowCD45RA-), resting (rTreg, FOXP3low+CD45RA+), and activated (aTreg, FOXP3highCD45RA-) regulatory T cells. Horizontal lines indicate the median. Whiskers according to Tukey. Mann-Whitney U test. 
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